Formula Sheet
Corporate Finance

A=L+SE P(C) = P(A+B) = P(A)+P(B)
MB :M E(R):M
BVE IC
DE=E rs=r; + RPg
TE
FV, =Cx@+r)"
DA:% C
PV, = ( ”)n
1+r
ICR :@
IE N
C
_ PV, = n
EV=MVE+D-C ;(1””)”
Eps = NI n
=0 FV, =PV x(1+r)
C
oM=L PV, =~
TS r
NI
NPM :E PV, :E 1_#’\‘
r L+r)
CR _CA C N
CL FV, =—((1+ r) —1)
r
CAEI
R=—"—
Q CL PV’[ :L
r-g
ARD =—AA§S N
PV, = 1-(“9]
NI r-g 1+r
ROE =——
BVE
o s FV, =q((1+ )N -+ g)“)
pje-MC_ 5P
NI EPS
1 1 FV
NPV =PV + PMT 1- =
RE=NI-D ’ “RATE [ (1+ RATE )NPER } (1+ RATE )NPER
NPV = PV(ACF)
c.__ P
P(S) = PV/(CF) 1 (1_ 1 J
r N
GAEY (L+r)
R=—"TF-_
IC

r(t)=L+r)" -1

Page 1 of 5



Corporate Finance Formula Sheet (cont)
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CG=SP-BV

ATCF = SP — (e X CG)

MACRS Depreciation Rate for Recovery Period
Year 3years b5years 7years 10years 15years 20 years

1 33.33 20.00 14.29 10.00 5.00 3.750
2 44.45 32.00 24.49 18.00 9.50 7.219
3 14.81 19.20 17.49 14.40 8.55 6.677
4 7.41 11.52 12.49 11.52 7.70 6.177
5 11.52 8.93 9.22 6.93 5.713
6 5.76 8.92 7.37 6.23 5.285
7 8.93 6.55 5.90 4.888
8 4.46 6.55 5.90 4.522
9 6.56 591 4.462
10 6.55 5.90 4.461
11 3.28 591 4.462
12 5.90 4.461
13 591 4.462
14 5.90 4.461
15 591 4.462
16 2.95 4.461
17 4.462
18 4.461
19 4.462
20 4.461
21 2.231
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Corporate Finance Formula Sheet (cont)
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Corporate Finance Formula Sheet (cont)
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Corporate Finance Formula Sheet (cont)
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